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Time : 120 Minutes Max. Marks : 100
{ For Candidate with benchmark disabilities
Time : 2 tHours 30 Minutes )

INSTRUCTIONS TO CANDIDATES

Read the following instructions carefully

before you open the question booklet.

. Answers arc to be given on a separate
answer sheet (OMR sheet). _

2. Pleasc write your Roll Number as allotted to
vou in the admission card wvery clearly
on the test-booklet and darken the
appropriale circles on the answer sheet as
per instructions given. ;

3. There arc 100 questions in l.hlS test. All are
compulsory. -

4, Pleasc follow the instructions given on the
answer sheet for marking the answers.

5. If you do not know the answer to a
question, do not waste time on it and pass
on to the next one. Time permitting, youy
come back 1o the questions, which you haye

" left in the first instance and attemplgthem.

6. Since the time allotted for lhib&f‘:iion
paper is very limited, you sh the
best use of it by not spending mich time
on any one question,

on the given
pf the booklet
[/loose paper.
an ill be awarded one
e no negative marking,. .

7. Rough work can bef
Blank Pages at t

mark. There wi
9. Please return the Answer sheet [OMR)
only to the invigilator after the test.
10. .Hindi version of the question paper will be
considered as final in casc of any dispute
arising out of variation in translated version,

PLEASE TURN OVER THE PAGE AND START
YOUR WORK.
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The copynght of the contents of this booklet rests with the BSER and no part of it should be used by
anybody in any manner whatsoever without the prior permission of the BSER. The items are prepared
on best effort basis. In case of any dispute the opinion of the experts appointed by BSER will be final.

NTSE(I)/ 19-20-MAT-701-A

agt & wifey

N —————— — . it e e i o s mam



(3)

Alfger Araar e

MENTAL ABILITY TEST

MAT-1

39 UE-TA H FeT 100 WHT ¥ | U Uy UFH 3% HT 81

THERE ARE 100 QUESTIONS IN THIS PAPER.
EACH QUESTION CARRIES ONE MARK.

ST (1-8)/ Questions (1-8)

Pl « o e 1 @ 8 O Ve U R @ i ¥, P v g o & R e e
ﬁrg(a)@Wwﬁlwwwévﬁéﬁ%ﬁﬂnﬁaﬂﬁwviﬁw%mﬁﬁw%

ﬁ%ﬁ |

Instruction

givenn under it. Find the correct alternative.

L, B REER

NTSE(I)/19-20-MAT-701-A

: In each of the Question Nos. 1 to 8 a letter serie
term missing shown by question mark ( ? ). This term is o

(1) R 2) S (4)
2. GH,JL,NQ, SW; YD, 2 .

1) B @ R \QEL @)
3. Z,U,0, 2, L \ ')

() I 2) K | 3 M 4)
4. AZ,GT,MN, 2w, YB. K

(1) JH @H 3) SK (4)
5. ABD, DGK, HN@‘\ SBL, ?_ |

- (1) @ {2)" ZAB (3)- ZKU {4)"
. 6. pBA&FE,L.

(1) SHG 2 oaB (3) VI (4)
7. PERPENDICULAR, ERPENDICULA, RPENDICUL, 2 .

(1) PENDICUL (2) PENDIC (3) * ENDIC (4)
8. ST,ND.RD,TH, ? . |

(1) TH @ vw (3) .RW (4)

with one

% r altérnatives
.

U
FL
N
TS
ZKW
ULK
PENDICU

ST

FESEAD,



MAT-1 (4)
WS (9 -16) / Questions (9 - 16 )
fwr : o W= 9 ¥ 16 9% U U uF dew-goh & e ¥, faed uw v 9@ ¥ R ae

| Wi‘ag(?)@amwﬁtwwws}vﬁéﬁqﬁﬁﬁn&mfawﬁﬁﬁw%uﬁ?—oﬂm'
e il |

Instruction : In each of the Question Nos. 9 to 16 a number series is given with one
term missing shown by question mark ( ? ). This term is one of the four alternatives

given under it. Find the correct alternative. - \
sesma O

5, 16, 51, 158,

(1) 1452 (2) 483 (3] 481

10. 198, 194, 185, 169, 2. o C)Q
(. 92 (2 136 (3% 3 (4'1 1 12.
1, 11,729,855, .7, 131, - '
Ty 10 .(2} 81 o Q 89 (4 78

12. 589654237, 89654237, 896542 \5 , 5,

(1) 58965 : [2(54
13. 1,1,4,8,9,27 6@ B -

| (1) 32 O\g) 64 @) ape (4) 256
14, 4,&@[21,1.69,289,361: | ' R

(1) 49 @ 64 (3) 81 @) 87.

3) 89654 (4 96542,

—_t

15. 980, 392, 156-8, ?, 25:088, 10-0352.
(1) 6504 (2) 60-28 (3) 6272 (4) 63-85.
16. 3,10, 101, 2.

(1 10101 (2) 10201 (3 10202 - (4) 11012

NTSE(I)/19-20-MAT-701-A
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W (17 -19) / Questions (17 - 19))
frder : e HE 17 9 19 o Wedsh H 91 U 3R 3 o e 1 1€ ) s w5

2ATIRT 3
T @it

¥/ €, =9 T8/9 gmraa: we a9 e e

Instruction : Question Nos. 17 to 19 have two statements and two conclusions
I and II. You have to assume the given statements as true even if it seems to vary from
commonly known facts. Read all the conclusions carefully and decide which of the

given conclusions logically follow(s) from the two given statements eve

commonly known facts.

Y7

18.

HU I 64#&1%&%@?&%@1@@“0
() : dEe64TR A AT 6
frad: @ . 7 oA EEeE A b (\)Q

I agwﬁ%mmﬂﬁ |

| 1). Wﬁ&ﬁéxawm%

(
2) aﬁa%&ﬁéué@maﬂm%_
i
(

3) 'ﬁ‘iﬁﬁm&ﬁxaﬂtuwﬁ’
4) T frepd 1 SR A

2l

Statements : (i) M %4 number buses go to my-oiﬁcc.
(i) This 1864 number bus.
Conclusions : (I} : his bus goes to my office.

- x is bus does not go to my office.
(1) Only concltgiod | jollows. '
(2) © Only co II follows.

(8) Bothco ons I and II follow. :
(4) el nclusion I nor II follows.
ARG s
() - : T =afe o aRear #t @g w1 §
frrend : @ o o aRer fafem E) _
) :  F9 AR B dRar # we e E
(1)  haet F=hd [ STEROTFCAE
(2) et fred I FFTERT Ll &
(3) S s 1 3R 1T SERO FXd &
(4) e P 1 3R A Fre 11 SRTECT e ¥

NTSE(I)/19-20-MAT-701-A
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 MAT-1 (6)

19.

20.

Statements : (i Some Indians are educated.

| (i) Educated persons like small families.
Conclusions : (I} All small families are educated.

(I) Some Indians like small families.

(1)~ Only conclumon I follows.
(2) ~ Only conclusion II follows.
(3) Both conclusions I and II follow.
(4)  Neither conclusion I nor II follows.

FUA ¢ W WB—W@W%%&WE\W%\
(i Wﬁﬁﬁaﬁqg-ﬁmﬁéﬂﬁm% O

forendt - O & w3 e 0

'{'1) Fael R [ SFER0T T §

a -WW%W Rk \Q

(2)  heet FSRY [1 SR A &

(3) MWIWIIWW%Q )
(a) T frse 1 ek A € e ¥

est for health.

itamin B-complex.

Statements : (i) Vitamin B'-_-
(i) Fruits

Conclusions : (I) We shouldégrow fruits.
(I1) Fruits are good for health.

(1)  Only conclusi ollows.

(2) Only con i follows.

(3) Bothe jons I and II follow.

4) Alei clusion I nor 11 follows.

= g ﬁaﬁawm@maﬁq&m%mwmaﬁmﬁmﬁm
HA T ?

Which one of the following Venn diagrams' correctly répresents the relation
between India, Pakistan and Asia ?

(1) . 2) @
4
@O - - J

NTSE(I)/19-20-MAT-701-A
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23,

23

24.

(7) - MAT-1
Frr A @ S 39 ot e, AR MR S & e dey w1 wd wy A wRE
HAIE ? ' |

Which one of the following Venn diagrams correctly represents the relation
between Police, Thief and Criminal ?

O o
g | ?) OOO

o QD () - \

ﬁmﬁﬁaﬁqwﬂqaﬁauﬁmmﬁwaﬁzam 0 4 yEier

AT T ?

Which one of the following Venn diagrams epresents the relation

between Rajasthan, Jaipur and Amer ?

5T *%-+#x TN TIER T $#+% foer S &, &t 34t g s

ﬁr RENT &I Erm

In ac de e, BRAIN is written as *%-#x and TIER is written as $#+% ;
e coded language, RENT will be written as

(1) %x %#x$ (3) " %+x$ (4) - +x%$

afe et %2 Wﬁ'[‘ILEﬁ?235-ﬁﬂTDEALﬁ95431%1@TW%H}3Tﬁ¥ T
DIET it w1 forar s 2

In a coded lénguage, TILE is written as 7235 and DEAL is written as 9543 ; then
in the same coded language, DIET will be written as

(1) 9257 (2) 9527 . (3) 9725 (4) 9275

NTSE(I)/ 19-20-MAT-701-A : ' [ P.T.O.
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25.
26.

27.

5

" “How many pa@ns are there in the following figure ?

20,

afg R e m&rﬁzmsmﬁ%wm%@w% a’rw”f@ ST § COBRA &t
7 foram ST 2

In a coded language, ZEBRA is written as 2652181 ; then in the same coded
language, COBRA will be written as '

(1) 3152181 (2) 1182153 (3) 31822151 (4) 302181

afs frell 3z W A E # 5 @O HOTEL %1 12 fr o &, & 3 32 s 3
LAMBE!%HQT%{@THW?

In a coded language, E is written as 5 and HOTEL is written as : then in the
same coded language, LAMB will be written as '

(1) 28 (2) 26 @ 7 0

A2 & T arpla d fean Bt € 2 | Q
How many triangles are there in the figure giv b@

1) 10 (2) @ 11 @4 12

qﬁa’ms‘a@%ﬁ _ %?

SNVAVAVAN

(1& @ g % (3) 4 @ 5

2 € 1 st F fore weuE € 2

How Ihany hexagons are there in the following figure ?

m 1 @ 2 @3 @ 4

NTSE(])/ 19-20-MAT-701-A
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O {30 - 33 ) / Questions ( 30 - 33 )

frder : wva dem 30 § 33 ° @ M S 1 W T wRaE W RiRTT, SERE S99 9 R
st & Tl Ak &t ' |

Instruction : In Question Nos. 30 to 33, find the correct mirror image of the given
figure, when mirror is placed on right side of the figure.

30.

31,

20
a3.

v 34,

W~3ﬂ§?%/Question Image Wﬂ@ﬁf / Answer-Image |

246 ape 642 I
35 c3 53 c&
7 . 7 | 7 v
m @ 3
Y- 3R Fid/Question Image ITR- 3T/ Answer-Image
r} - ; & ?. ’u'
(1) (2)

PRAYER . T e
(1) a9AYES () AAYAST wﬁqam (4) 99AYAS

12698 : ‘% - :
(1) 12698 (2 _ \'( 80aCI (4) 12968

-Which of the answer-figuage will complete the matrix figure ?

EI‘FI%’HEF% / Q_uestio

¥

ENLE C‘H@f?f /Answer image

Ql |

(1) @ ®) “

NTSE(I)/ 19-20-MAT-701-A [P.T.O.
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35. lﬁSO%WQﬁﬁﬁH}ﬁ@ﬁ%ﬁWﬁ ?
| How many numbers from 1 to 50 are there which are prime ?
(1) 10 ' (2) 20 3) 15 @) 18.
36. qﬁ_lmﬁ, 2006 I T(e@I o, T 1 SR, 2007 F HH-91 &= a1 2

If it was Sunday on 1st January, 2006 then what was the day on 1st January,

2007 ?
() WE/Sundy (@) dwe/Monday
(3) AR /Tuesday ] (@) mﬁaR/Sgturdo
| W.(37—42j/Quesuons(37—42] ' | O
Prdwr « et e 87 R 42 % e o A Frew Rl ¥, o o forer T
ﬁﬁ%lwmmwﬁt : % o |
‘Inétmction - In each of the Question - to 42, three alternatives are alike in a

08,37
certain way but the rest one is diﬂ'erent%e odd one.

37. (1) <e[E/Bengaluru’ ‘\g (2) AMYR/Nagpur

(3)  idTei/Bhopal (4) T=t/Ranchi.

38. (1) ®/Green K @ T/ Pink
| @) i/ bt (4) T/ Violet.
39, (1) ‘ sptember '.(_2)_ _@H{April
/(3& #/November 4) W/January
40. (1) THRY/Tomato () ¥IcY/Potato
(3) TeR/Carrot (4) T/Onion.
41._-'(1) 3/ Rectangle ' (2) @i/Square
(3) %ﬁa/Tﬁangle - (4) . G/ Rhombus.
42..- (1) 23 @) 51 | -(3) 63 4) 15.

NTSE(])/19-20-MAT-701-A



(11) MAT-1

43, Teree frfer @ Aredt-den € 2

How many educated people are employed ?

fféaa

Educated ~%

9B/ \40 GalRal
&« Employed
Ty 10/ 14
Rural
1) 18 (2) 26 3) 24 4) 2 |
U7 (44 -48) / Questions (44 -48)
fRw : f=fatea w99 @ ™ s W i ¥ s %1 e @ AW
STIRE weEl & I AT
Instruction : The following questions are based on the dia iven below. Study the
diagram carefully and answer the questions based u it.
(i)  Y&uI A EA 9 i \Q
() forferat =t B @ .
(i) A H gAY, qw \ _
(iv)  ieRdehi i o g i
In the diagram &
(i) Rectangle represent v
(i)  Triangle rf:pr.esex-rl ted
(i)  Circle represe 1, and
(ivy  Squareyre civil servants.
7
' 3
10
8 12 6/ 13
9 11 14

NTSE(I)/ 19-20-MAT-701-A [ P.T.O.
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44,

45.

46.

47.

48.

49,

50.

‘urban oriented and uneduc_at

e o @ U fova forfera qow €, it fob vt At € 2
How many among the following are educated males, who are not an urban
resident ?

(1) 10 (2) 4 (3 11 4) 9.
ﬁmﬁ“ﬁ?@ﬁﬁqﬁnf—ﬁmmﬁﬁam%qmm 7 & fofer oik 7 & o
wfeh ¥ & 2

How many among the folEowmg are nelther civil servant nor educated but are
urban and not a male ?

m 2 @2 3 @ 6 | (41-'10
freferfiga o & Tt feporT afecd €, S o w1t o e ot € 2

‘How many among the following are female, urban resident o a cwﬂ

servant ?

1 6 @) 7 (3) 10
frefefiaa o Qﬁmﬁﬁﬁaﬁm%ﬁ%‘rﬁ% ermﬁaiiﬁ

Feifyre & 2
How many among the following are educated e ail from urban arc-_a ?
) 4 (2 2 (3) - (4)- 1L,

freferfian § R O sl @ WEn R Rt Fr e Seta § T gon o §
aﬁiﬁﬁmﬁﬁmqé’r&ﬁm%‘?

How many among the following a civil servant but neither male nor

(1) 10 2) 8§ 3] 7 4 9
et i 9 S
1. . feeter Kz - TR 3w
4. ' @ 5. fasme 6. &I
Arrange the follewifg in a meaningful sequence :
. Pr_ n 2. Interview 3. Selection
ointment 5. Advertisement 6. Application.
(1) 6, , 4,1 : n {2] 5,6,3,2,4,1
[3) 57 4:' 2) 3) 1 g T (4] 61 5} 4: 2! 3: 1‘
frefeifiae it arequl shm H A Hifag
1. AR 2 faw 3. T=EH
4, WRa 5. uRm@En
Arkange the following in a meaningful sequence : _
1. Jaipur ' 2.  Universe - 3. Rajasthan
4. India 5. Asia.
() 1.2.3,4.5 _ 2 1,3,4,5,2
‘@ 1,43.5.2 4) 1,3,5,2 4.

NTSE(I)/19-20-MAT-701-A
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forer WehR <higell, R A Weifl &, IHl e el ey o forey ieifere & 2

Sl.
As Kandla 1s related to Gujarat, in the same way Kochin is related to which of the
following ? _ :
(1) SHlesh/Karnataka (2) TiET/Goa
(3) 97%/Chennai . (4) &TeT/Kerala.
52. forw yaw wRa, 7% feeelt @ wefua 2, 3 v wiwear P @ fore fia ¥ 2
As India is related to New Delhi, in the same way Pakistan is related to which of
the following ? '
(1) TEAMTE / Rawalpindi (2) fﬁﬂﬁ?/ Peshawar \
3) B /Lahore (4} W/Islam badh |
53. o WP oA, WRA W Welfed &, I ¥R & Fer F ¥ Fengagea s ?
As rupee is related to India, in the same way ye slated to which of the
following ? £ : '
(1) Zﬁ/ Turkey (2) Bangladesh
{3) W/Japan : W/Pahstan : |
54. 4% A> B, B> cad > Dt frpd tfrepd PRem sT R oW ¥ 2 _
IfA>B, B> Cand C> D, the kh Ythe following _éoncluéions is definitely
wrong ? L | '
() A>cC (2) A>D
3) B>D 4 D>A
W (55 - 59 ) / Questl 5-59)
R o 9 T T W o BT A <= BT I <>y HT A < A
5 1 31 forheq T T T |
Instruction : In" each of the Question Nos. 55 to 59, choose the correct 'altérnativc
assuming « stands for ‘="; B stands for °>"; y for ‘<’and 8 for ‘#’.

55. 4% 6x o Sy T4l QQBSZ , a9

If 6x a 5.y and 2y B 3z, then
(1) 2xp 3z (2 4xp3z
3) 2xyz 4 4xa 3=z.

NTSE(])/ 19-20-MAT-701-A [BT0.
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56. m%ax}'by,bxaczﬁmbgaac,ﬂa
~Ifax y by, bx a cz andbzaac,then _
(1) axBey (2) ay acz
B) yyz 4 yBz.
57. I abxy o c’z, bx B ay T b% o ac, s
If abxy « czz, bx B'ay and b2 o ac, then
(1) ax®pez 2) a?x? Bez

- (3) b%x B c?z (4) bx> B cz. \

58. AR bey y ax,cy & bz T a? y be,

If bey y ax, cy o bz andazybc,then . 0

(1) ex o abz (2)

(38) ox 8 abz % %2z
59. 3R a?x o byz, czx o b2y T 2z o axy ,

If a’x o byz, czx o b2y and c? ythen

(1) abca .xyz . (2) abc B xyz

(3) abc & xyz \ (4] abc y xyz.

"9 (60 -63) / Questi
forder - ﬁtﬂfﬁﬁaﬁ

Instmction Re

(60-63)
2 fsw s gEd A R T e 3 3o A -

ormation given below to answer the questions that follow :

A$ B ABHﬁm%ll
%%A B =1 fyar 21
(i) A@BWW%%A B Ufd &1

(iv) A% B 342 A BRI S I

() A $ Bmeans A is mother of B.
(i) A+ Bmeans A is father of B.

(i A @ Bmeans A is husband of B.
(iv) A% Bmeans A is daughter of B.

NTSE(I)/ 19-20-MAT-701-A



60.

6l.

62.

63.

64.

65.

(15) " - MAT-1
H%P@Q$M¢T,ﬁagrﬁﬁwwﬁé‘am%? |
If P@Q $ M= T, theri what relationship is of Pwith T?
(1)  FT/Maternal grandfather (2) AFl/Maternal grandmother |
(3) 3TWI/Paternal grandfathe? 4) .-ﬁﬁqf/ Paternal grandmother.
Friofia i @ <t st 7 i) ¥ B R, g A E 2

Which of the following expressions indicates that ‘R is the sister of H’ ?

() H$D@F+R @ R%D@F$H

@) R$D@F+H 4 H%D@F$R.

Ak G$ M@ K, T K &1 G 9 1 699 ¢ ?

If G$ M@ K, then how is Krelated to G? ~ Q

(1) T/ Mother-in-law o R

(3) agfbaughtcr-in—law | _ F | wR q‘ﬁ/None of these.
ﬁm%ﬁaﬁﬁ@ﬁqﬁaﬁaﬁﬁaﬁ 'mw

Which of the followmg exprt His thg brother of N?

(1) H;&R$D$N 20 N%F@D$H=R

B) N%F Dmh@ (4 N%F@D%H.
I 2x+y =35 65?{64"‘ | '

O

If Zx&@d 3x + 4y =65, th-enﬁ =

(1) 30 @ 2 3) 5 @ s
o 4p - (47)% - (43)%, @& P=?
If 4P = (47)? - (43)2, then P="?

1 360 . @ 9 @ 4° @) AR A

None of these.

NTSE(I)/ 19-20-MAT-701-A | - | [P.T.O.
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66.

67.

68.

-_69.

70.

71.

(3-572% + (2-428)° i Wé
(3-572)2 - 3-572x2-428 +(2- 428)2

et o (3:572° + (2-428° e
(3:572)% - 3.572x 2- 428 + (2 428)2

(1) 17-12 @ 7 . B 6 (4) T FiE T /
_ | - None of these.
o %1 T2 Sel 150 3 Ol €1 gk ferepol Y ofard (G ) ¥ 2
The surface area of a cuﬁé is 150 sq.crh. Whai is the léngt}ws diagonal

(in cm) ? ' Q
g ) @ ©B) 542 0 3

2] _

aﬁqwﬁwﬁwzo%mﬁaﬁﬁﬂu@m e ¥
The average of three numbers is 20. If two bers are 16 and 22, thf:l'l
the third is %
(1) ‘18 2) 20 (3) (4) 22.
Frer 1 @ forr e 1 ant 10608049 %Q
Of which number is 10608049.a > o _
(1) 4135 2) 30 3) 13263 (4) 3257.
HART IS (?) aa@éf '
Identify the missing tefm (7 ) :

6 4 4 13

13 _ ™ 39 16

4 ? 28 11
(L& 1 2 o 3) 5 - @) T
RIERE %ﬁmaﬁwﬂmwélwwﬁm4%ﬁuﬁawmﬁmﬁ
am

The two positions of a single die are given below. Whlch dlglt will be at the face
opp051te to the face hanng digit 4 ?

(1) 1 2) 2_ @3 3 (4) 6.

NTSE(])/ 19-20-MAT-701-A



(17) - MAT-1

72. aﬁtﬁw%maﬁﬁﬁﬁw%ﬁﬁ%ﬁ%—@ﬁmme%?

How many smaller cubes of 1 cm side can be formed with a solid cube of 3 cm
side ?

(1) 3 2 6 @B 9 (4) 27.
73. Waﬁaﬁwﬁlﬁﬁmaﬁlﬁwﬁqﬁﬁmﬂaﬁwwwgﬁﬁv

How many times the hour hand and the minute hand of a clock are at right
angle in a day ?

(1) 24 (2) 48 | 3) 22 (4) 44.
74. 3K 1+4=9,2+8=183R3+6=15097+8= te
If1+4r~9,2+8=18an&3+6=15,then7+8'=' | \
[} 22 (2) 41 (3) 23 (4 O
g ("75-79]fQuesti’ons('rs-?g]- 0

ﬁiﬁ':ﬁmmﬁ.ﬁw@ﬁw&qaﬂ?ﬁ%ﬁﬁn&ﬁ%
s @ B F, G H, J, K, L 3R M3 3 3 i s0h fior % g 33 ¥1 v
T U [ 09 & TS iEieR, WWER, SieeT, S0, forgciver, aehiel, SEE 3R

+ B TR W 3 2| AT, K
: | s el B % ot dad U =i
o431 ¥ | THHR, aﬁmmé?ac‘cmﬁmaﬂt < @R gEr ¥ o dmhE ¥ GF J
Wwwﬁmq@ﬁr%ma} A 8} g arfrar ¥ foelg foveiwes, P doeret

aﬁ%raﬁaw%m %lamnﬁ aifere =1 e TEE 1 G, W ST
% TR AR T R

Instruction : Study t mg mformatlon carefully and answer the questions glven
below :

Eight peop ' »F,@f, J, K, L and M are sitting around a circular table facing the
centre. Each of them is of a different profession : Chartered Accountant, Columnist,
Doctor, Engineer, Financial Analyst, Lawyer, Professor and Scientist but not
necessarily in the same order. F is sitting second to the left of K. The Scientist is an
immediate neighbour of K. There are only three people between the Scientist and E.
Only one person is sitting between the Engineer and E. The Columnist is to the
immediate right of the Engineer. M is second to the right of K. H is the Scientist. G and
J are immediate neighbours of each other. Neither G nor J is an Engineer. The
Financial Analyst is to the immediate left of F. The lawyer is second to the right of the
Columnist. The Professor is an immediate neighbour of the Engineer. G is second to
the right of the Chartered Accountant.

NTSE()/19-20-MAT-701-A _ - [RTO.



MAT-1 . ' (18)

75. E% I H R @H WA A5 ¥ 2
Who is sitting second to the right of E ?
(1) =RI/Lawyer @ a
(3)  HhFar/ Engineef (4) F.
76, P T Y oA ) |
Who amongst the following is the Professor ?
(1) F (2) L (3) M 4 K

77, ﬁﬂé@ﬂ@ﬂ%wwﬁﬂ%ﬁﬁﬁﬂﬂﬁﬁ?ﬁ?%ﬂ}ww%,%%ﬂm@
U S € | 6 O HA-91 E SN 56 W A A o ¥ 2 | \ |
€ given

Three of the following four are alike in a certain way basedf
_arrangement and hence form a group. Which of the followin belong to
the group ?

(1) & SEmHR —H /'Chartered Accountant — Q

(2) S — M /[ Doctor — M
(3)  arfirdar — J/ Engineer—J o %
4) fordig favems — L / Financial An ;

78. A % gaw & Laﬂwqaﬁ:r-m% ?
 What is the position of L with res;k c1entlst '9

(1) a8l GRRT / Third to the 1
(2) T @U / Second to t nght
(3) - T i {/a/ Secon 0] the left

(4) wﬁ?ﬁ@mx:’ the rlght
79.'%?11%@:16@%@ % ¥ BT YT TE R 2

Which gaf
(D
%mﬁzﬂﬂ%/

The Lawyer is second to the left of the Doctor
(2) E, fadia favelues o1 denel 9eidl §

E is an immediate neighbour of the Financial Analyst
(3) H FoR o fovons s S da S dmrd /-

H sits exactly between F and the Financial Analyst
(4) WHSR AR F & 99 sheel 97 =Afd 98 £/

Only four people sit between the Columnist and F.

owing statement{s] is/are true according to the given
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80.

81.

82.

83.

84.

85.

86.

87.

(19) . MaT1

T 3814, 9 ¥ famfo & a Frae wied T A T AE &

If 381A is divisible by 9 then the value of the smallest natural number A is

(1) S (2) 6 3 7 (4) o.
3 % WHH i Ui @ el ¥ | '

The average of first five multiples of 3 is

(1) 3 ' 2 9 (3 12 (4) 15.
afg 819 =—27— T x FTHA y & T &

If 81Y = .—1— then the value of x in terms of yis
27%

3y 3y 4y - 4y
moF e -3 e 2 4) \
; .
qﬁ'M:Qﬁ‘a}a;b% _ | 0
3ab - b? : ' O _
fM 10 ,thena: bis _' g
3ab-p2 1 | 0

@y 25 @ 2:5 3) @ 3:7.

afg ,}5+3J-_=3"a°lx‘eﬁfrn=r%

If1}5+3,'f;—3 then the value of xis '
(1) 125" 2) 64 Qﬂ
a‘rmaﬁwagﬁnwwﬁ(amn W(HHH)WIQ‘H{%I

9.9, T°1 .99, & 47T 403 T T 93 &, of gt e &

The Least Common MultipleLCM)"f the two numbers is 12 times their Highest
Common Factor (HCF). he sum of HCF and LCM is 403. If one number is 93,
then the other is '

(1) 134 128 . (@) 124 (4) T I HE TR
: _ . / N.oné of these.
i T quif i & 3 FAUE & T ITH A BN AR 117 & 79 37 <= LA B

If one mteger is greatef- than another integer by 3 and the difference of their
cubes is 117, then what would be the sum of those two integers ?

() 7 2 8 - (3 9 (4) 11. _
3 7, 5, 0,2 FT AT IR AR mﬁmﬂmﬁmmﬁaﬁ%rﬂ%wl

& H U 37k Uk & IR Yg® el 8 ?

- How many four digit numbers can be formed using 7, 5, 0, 2 only once in a

number ? . - )
(1) 4 (2) 12 (3) 9. (4) 18.
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88.

89.

3ihl I R o fom sit 7, 0, 6, 5 ¥ T o TS At UR o A A wH
e |

The greatest four digit even number that can be formed using the digits 7, 0, 6, 5
without repeating the digits is

(1) 6570 (2) 7560 ' (3) 7650 (4) 7065.

Toh Ak AU A FT S AT 30 TR/ der o 9w amer w20 FRdll/der & @ e

¥ gt e % ot v = &

A person covers half of his journey at 30 km/hr and the remaining half at
20 km/hr. The average speed for the whole journey is

(1) 24 fewt/der / 24 km/hr (2) - 28 fowdi/HeT / 28,
(3) 32 f®Hi/der / 32 kmn/hr @ 9 @raﬁg @ fthese

WS (90 - 94 ) / Questions ( 90 - 94 )

ﬁ'&wzwqﬁaﬂmaﬁwggﬁﬁﬁmnﬁwaﬁ%@) GRS e

WEYHIe 3Teag T T Tt & It S
Inétructioﬁ : The pie-chart represente b w shows the spending by a family on
various items during the year 1999. St ple -chart carefully and answer the

following questlons : "
| - - ofER g A 18 \ ﬂﬁwaﬁuﬁmﬁr

e family on various items dunng 1999 :

g / Others
20%

@ qftagd /Transport -
5%
/Food
23% )
RN /Education _
12%

%Y /Clothing T8 /Housing
10% ] 15%
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90.

91

92.

93.

94.

95.

. money (in rupees) was spent on clothing and housing together ?

(21) MAT-1
gz o 1999 & TNF Fo @ 46,000 TP o1, & e W b T @ (v H) o

If the total amount spent during the ycar 1999 was Rs. 46,000, fhen the amount
(in rupees) spent on food was

(1) 2,000 2) 10,580 (3) 23,000 4) 2,300.

afs o 1999 & IR ol @A 46,000 T 1, &l FUL AU U§ el B e forer
Ty (393 H) g3 o1 ?

If the total amount spent during the year 1999 was Rs. 46,000 thf\how much

(1) 11,500 (2) 1,150 (3) 10,000 - $1000.
Tlﬁfﬂfi1999%%%@%46,0005@%,6’!%%%(mﬁﬁ)ﬂﬂ

If the total expenditure of the family for the ye g)s Rs. 46,000, then the
savings (in rupees) of the family was

(1) 1,500 15,000 6 ,900 (4) 3,067.

U o SN, sk @d few 7 , .
According to the pie-chart, t % ount was spent on which item ?

(1) 99 / Food (2) T / Housing
3) / Clot (4) 3 / Others.
ﬂiﬁ%ﬂ W%wmﬁ%&mwmmmm

total amount of money spent on housmg to the total amount of
money spent on education was

() 5:2 2] 2:5 (3) 4:5 4) 5:4.
e demstt # A 98 1 af wun o fidia demet & @eg e 2 ;3 @ aw g a
T FETedt & g AU 5 : 8 &, Al fada HE& g

The sum of three numbers is 98. If the ratio between first and second be
2 : 3 and that between second and third be 5 : 8, then the second number is

(1) 30 (2) 20 (3) S8 (4) 48.

NTSE(l)/19-20-MAT-701-A | B.T.Q.
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U¥1 (96 - 100 ) / Questions (96 - 100 )

fdw : fafofed vas ue 4 fag (0 0) & a1 3R 31 dend & i § B sy | w5 S
Ty ¢, 3t 39 wHR &1 ay fag (2 ;) & <@ R &) o e amn 9% A9 o m fagedt A
H frdl v foey & diw d o 31 W@ fasew &1 g

Instruction : In cach of the following questions, there is a certain relationship between
two given numbers on left side of ( : : ) and one number is given on the right side of
( : ) while another number is to be found from the given alternatives, having the same
relationship with the number as the numbers of the given pair bear. Choose the
correct alternative.

96. 21:3::574:°? \

(1) 23 (2) 82 (3) 97 4 13
97. 42:20::64:7? 0
(1) 31 (2) 32 (3) 33 Q @) 3a.

9. JollLEzTe?
(1y 22 (2) 29 (3 (4) S1.
99, 42:56::72:7

(1) 81 (2) 90 Qﬁ 92 (4) 100.

100. 9:80::100:? .
(1) 901 (2) & 10 \ (3) 9889 (4) 9999.
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